S SEEMT

XEFRHARELRES
m g X
g 830 ¥+ 24—68

FLR T L X BRER BT R IL 62125
#HA =1 HLRO—FACD

XE4



IR T
x ..;
HERTFE mm oz X
FREMm FfLIR830 9 24-68
FEARMFEA mEgRArk  N—KS5A4> H-100 B

HSAE—X N9 HSAE—X SGB153T-PN

SHERIGFT LER

HEREAH &S 5% 48 10H

SREH Kix Bh il 10°C
AVA:-JN IR & 75 E ¥+ &

HERE BFLIRO—KACS -

iffi £ =T ’%“



B 2

& A # W =

i No. 1 B&
BEEEHFEERES #L1%8309 2468
B £ Yo TF—EIL
it = P—CM87EX
X EXE B 2%
%Mt E & 5 k&
NI o e
BEWKEE 7890kg

#z2 & A K I7LRA

E R A E § nimn| 35 m/min
w A E N kg/cm? 70 kef/cm?
[ & % rp.m 1400rp.m
1RBIRTEAL 5: 1
EaittHE 2/ min 16 2 /min
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67 6 | 16 5,360 5,806 6,253 6,700
1.7 5,695 6,170 6,644 7,119
2/km (ke/km| 4 4 3,360 3,640 3.920 4,200
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1 7,521.0 1,133.0 6,388.0 12,776.0 | EhEEEH +2%
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ERETE( 670/km) X ZEE1.6x1,000 X MNETE579% X 0.5m = 42344 g (P)
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E—X
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